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Problem 1: Solve the following short questions.
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) Ifthe t%?ajﬁ}mmber ofbooks in a public library is 950. Then what is the nmnmum number of
digits needed to encode the number of books in binary (1 e radix :7) ..... 2 7/“% Q 7 7/ '
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Problem 4: Using Boolean algebra, prove the followingsr ia%:lj tatement. Show your steps

clearly. (3 points)

xy+ (xyz+ y2)(xyz+x) = x
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Problem''s: Determine theLS‘um of Minterms (SOA1) ylgebraic_expression for E(X,Y) that is
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Problem 6: Draw and Fill the K-map@ﬁu’h

ction F given by the following Boolean expression. You
must label the K-map with the input variables,

(4 points)
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Problem 7: Consider the
six prime implicants and determin

following K-map for function F(4,B,C, D), identify the expr

e which are essential.
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Is it Essential?

Problem 8: Use 1 & K-r;l‘gp Below to find the
Su!n of Products SnjD

F(X,Y,Z) = 2(0,2,7) g 2(3,4)
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Problem 9: Given the K-map of function F(4, B,C, D), write the optinized Boolean expression of F

as Product o; Sums (PaSé (3 points)
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